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3) Some of the points on the graph of f{x) are (-3,2), (5,6), and (-1.8). Chapter 1 Pra;:\m\_
Test — pg.2 :
a) If f{x) is an odd function, what points would also be on the same graph? ( ¥ g.) =2 (-)’-‘;,’5—)

b) If f(x) is an even function, what points would also be on the same graph? (¥ 9)—7 (~¥9) 8
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1) Lola is building a sidewalk around her rectangular swimming pool. The sidewalk will have a uniform width
throughout. The dimensions of the swimming pool are 20 feet by 12 feet. Express the area of the swimming
pool with the s1de;zvalk as a function of its width ‘x”. (Justifv vour answer by showing all the work neatly).
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5) Find and simplify the difference quotient M ,h =0, for f(x) = 3x% + 3x — 5. (Justify vour answer by
showing all the work neatly).
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roblem 16 — 18: Write the equation of a line in slope-intercept form for the line with the given information:

Justifv vour answer by showing all the work neatly). :
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7) Parallel to y = —5x + 2 and passing through (—4, 6).
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8) Perpendicular to y = —x — 4 and passing through (1, —3).
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